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The main aim of this booklet is to exemplify standards for those teaching Cambridge International AS & A Level 
Law, and to show how different levels of candidates’ performance (high, middle and low) relate to the syllabus 
requirements. This document helps teachers to assess the standards required to achieve marks beyond the guidance 
of the mark scheme.

In this booklet candidate responses have been chosen from the June 2023 exam series to exemplify a range of 
answers.

For each question, the response is annotated with examiner comments about where and why marks were awarded or 
omitted. This is followed by comments on how the answer could be improved. There is also a list of common mistakes 
and guidance for candidates.

Please refer to the June 2023 Examiner Report for further details and guidance.

The mark scheme is available on the School Support Hub

Introduction

Past exam resources and other teaching and learning resources are available on the School Support Hub

9084 June 2023 Question Paper 22

9084 June 2023 Mark Scheme 22

http://www.cambridgeinternational.org/support
http://www.cambridgeinternational.org/support
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How the candidate could improve their answer
(a)
•	 The candidate could have been clearer on the point that the force was used by Yuri at the time when Mikhail was 

stealing the money and in order to steal.
•	 The application of R v Lockley lacks clarity and certainty as to why the law in that case will be applied in the sam 

way to Yuri and Mikhail.

       The candidate draws a 
conclusion.

       The candidate makes it 
clear money has been stolen.

       The candidate 
demonstrates there has a been 
a use of force on Freda by tying 
her to a chair.

       There is a clear link to 
a threat of force using the 
scenario facts.

How to use this booklet
This booklet goes through the paper one question at a time, showing you the high-, middle- and low level response for 
each question. In the left-hand column are the candidate responses, and in the right-hand column are the examiner 
comments.

Example Candidate Response – high Examiner comments

1

1

Common mistakes and guidance
•	 	Some candidates write out the question and large amounts of the source material which gives them less time to 

demonstrate application of the law – it is more helpful to refer to the law in the source material and include only the 
most relevant points to support application.

•	 	In an effort to cover all the issues in a question, it is helpful to consider the issues in the order they appear in the 
scenario and apply the law to those issues in turn.

•	 	AO1 marks are awarded for the use of citation from the source material which is most relevant to the facts in the 
scenario, so it is helpful to take the time to consider which are the most appropriate cases, remembering that a 
maximum of 2 marks are available for AO1.

Answers are by real candidates in exam conditions. 
These show you the types of answers for each level. 
Discuss and analyse the answers with learners in the 
classroom to improve their skills.

Examiner comments are 
alongside the answers. These 
explain where and why marks 
were awarded. This helps you 
to interpret the standard of 
Cambridge exams so you can 
help your learners to refine their 
exam technique.

This section explains how the candidate could have 
improved each answer. This helps you to interpret 
the standards of Cambridge exams and helps your 
learners to refine their exam technique.

This section lists common mistakes as well as 
helpful guidance from the examiner. This will help 
your learners to avoid these mistakes. You can 
use this alongside the relevant Examiner Report to 
guide your learners.

2

3

2 3

4
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Question 1

Example Candidate Response – high Examiner comments

       The candidate draws a 
conclusion.

       The candidate makes it clear 
money has been stolen.

       The candidate demonstrates 
there has a been a use of force on 
Freda by tying her to a chair.

       There is a clear link to a threat 
of force using the scenario facts.

       Having made a general 
reference to Section 8 earlier, the 
candidate now makes a clear link to 
s8(1).

       The candidate references  
R v Lockley, which is added to 
their accurate statutory citation and 
means they are awarded 2 marks 
for AO1.

       There is some application of 
the decision in Lockley.

       There is a reference to the 
maximum sentence which could be 
applied to Mikhail and Yuri.

       There is a reference to  
R v Hale and a link to the scenario 
facts on the basis of the case facts 
being similar.

Mark for AO1 = 2 out of 2
Mark for AO2 = 7 out of 8

Mark for (a) = 9 out of 10
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3
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Example Candidate Response – high, continued Examiner comments

       The candidate identifies  
R v Robinson as a relevant case.

       The candidate makes a 
statement of application based on 
the similarity of the scenario to the 
facts in Robinson.

       The candidate makes a 
statement of application linking 
Suki’s right to an honest belief and 
what this means in terms of her 
liability.

       The candidate references  
R v Clouden, which is added to their 
previous case citation and means 
they are awarded 2 marks for AO1.

       There is some application of 
Clouden, but this is not linked to 
the fact that there has been an 
appropriation of the bag and that 
force has been used in order to do 
so.

       The candidate makes a 
reference to s8(2) but the scenario 
facts link more clearly to reliance on 
s8(1).

       The candidate discusses 
Suki’s conviction being overturned 
on appeal but due to her lack of 
dishonesty she will not be convicted 
at all.

       The candidate reaches a 
conclusion that Suki will not be 
convicted, which is accurate.

Mark for AO1 = 2 out of 2
Mark for AO2 = 6 out of 8

Mark for (b) = 8 out of 10

10
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Example Candidate Response – high, continued Examiner comments

       The candidate identifies  
R v Dawson and James and applies 
the case based on its similarity to 
the scenario.

       The candidate identifies 
relevant statutory sections which 
means they are awarded 2 AO1 
marks.

       The candidate identifies 
Corcoran v Anderton before 
restating information from the 
source material.

       The candidate applies 
Corcoran v Anderton to the second 
part of the scenario involving Roger 
accurately.

       There is some vague 
application as both Roger and Carol 
will be guilty in relation to the first 
part of the scenario; however, the 
use of Corcoran v Anderton is not 
especially relevant based on the 
facts in the first part of the scenario.

       The candidate applies Corcoran 
v Anderton to the second part of the 
scenario facts, making it clear that 
it does not matter that Roger never 
fully has control of the phone.

       The conclusion and sentencing 
points are valid but without any 
clear distinction being drawn in the 
liability of Roger and Carol.

Mark for AO1 = 2 out of 2
Mark for AO2 = 5 out of 8

Mark for (c) = 7 out of 10

Total mark awarded =
24 out of 30
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How the candidate could improve their answer
(a)
•	 The candidate could have been clearer on the point that the force was used by Yuri at the time when Mikhail was 

stealing the money and in order to steal.
•	 The application of R v Lockley lacks clarity and certainty as to why the law in that case will be applied in the same 

way to Yuri and Mikhail.

(b)
•	 The application of R v Clouden could have been clearer by identifying that an appropriation has taken place.
•	 The candidate could have been clearer that, although the actus reus is present, the mens rea is not due to Suki’s 

honest belief in her right to the bag as being equivalent to the amount of money she is owed by Tamsin. This 
means Suki will not be liable for theft or robbery.

(c)
•	 There could have been fuller linking of the scenario facts to the law being applied in each part of the scenario.
•	 It would have been helpful to see greater clarity in the different application of the law to Roger and Carol.
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Example Candidate Response – middle Examiner comments

       The candidate accurately 
identifies s8(1).

       The candidate reaches a 
conclusion on both Yuri and Mikhail.

       There is some application 
of the use of force linked to tying 
Freda up. There is a reference to 
putting a person in fear although 
this is not applied to the facts.

       Here is an accurate reference 
to the maximum sentence which 
could be imposed on Mikhail and 
Yuri.

       The candidate references  
R v Lockley accurately, which is 
added to their earlier statutory 
citation and means they are 
awarded 2 marks for AO1.

       Here is some accurate 
application of the point of law in 
Lockley.

       The candidate brings up the 
legal issue raised in R v Hale.

       Although the candidate refers 
to Corcoran v Anderton, which is 
not a relevant case based on the 
scenario facts, there is application 
to the effect that there has been a 
complete offence of theft.

       The candidate accurately 
applies the point they have raised 
from Hale.

Mark for AO1 = 2 out of 2
Mark for AO2 = 7 out of 8

Mark for (a) = 9 out of 10
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Example Candidate Response – middle, continued Examiner comments

       The candidate identifies  
R v Clouden as a relevant case.

       The point of law in Clouden is 
applied accurately to the scenario 
and in detail.

       The candidate identifies  
R v Robinson accurately, which is 
added to their other case citation 
and means they are awarded 2 
marks for AO1.

       Here, the candidate makes 
some application of the decision in 
Robinson by use of the words ‘pure 
belief’ although they go on to draw 
an incorrect conclusion as to the full 
application of the case.

Mark for AO1 = 2 out of 2
Mark for AO2 = 3 out of 8

Mark for (b) = 5 out of 10

10

11

12

13

10

11

12

13
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Example Candidate Response – middle, continued Examiner comments

       The candidate reaches a 
conclusion on the liability of Carol 
and Roger.

       The candidate accurately 
identifies s8(1) as relevant law.

       The candidate identifies  
R v Dawson (and James) 
accurately, which is added to their 
statutory citation and means they 
are awarded 2 marks for AO1.

       Here is application of the 
principle in Dawson and James 
linked to the level of force Roger 
used.

       The application is extended to 
Carol as she was able to take the 
phone due to the force Roger used.

       There is an accurate reference 
to Corcoran v Anderton, but this 
does not attract an AO1 mark as the 
two marks available have already 
been awarded.

       The reference to R V Lockley 
and application of the point of law 
in the case is not appropriate based 
on the scenario facts.

       The candidate refers to the 
maximum sentence Roger may 
receive for the second part of the 
scenario.

Mark for AO1 = 2 out of 2
Mark for AO2 = 4 out of 8

Mark for (c) = 6 out of 10

Total mark awarded =
20 out of 30
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How the candidate could improve their answer
(a)
•	 The candidate could have been clearer in linking the threat of force to when Yuri shouts at Freda that she should 

stay where she is and not call the police.
•	 	The reference to a completed theft is implied rather than made clear.

(b)
•	 The candidate could have dealt with the fact that although Suki does not touch Tamsin, she has appropriated the 

bag.
•	 	The candidate could have been clearer in their application of R v Robinson, as Suki’s lack of dishonesty due to 

what they term as her ‘pure belief’ means there is no theft and therefore no robbery, so she is not guilty of any 
offence.

(c)
•	 	The candidate refers to the case of Corcoran v Anderton in relation to the second part of the scenario but there is 

no clear application of the relevant point of law to the facts.
•	 	There could have been greater clarity on the point that the force in the first part of the scenario was used in order to 

steal. The principle of when and why the force is used could also have been applied more clearly in relation to the 
second part of the scenario.
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Example Candidate Response – low Examiner comments

       The candidate states that Yuri 
has used force on Freda when he 
pushes her into the chair.

       Here is an accurate citation of 
s8(1).

       There is an implied conclusion 
that s8(1) applies in this scenario.

       The candidate references the 
maximum sentence which can 
be applied if Yuri and Mikhail are 
convicted.

Mark for AO1 = 1 out of 2
Mark for AO2 = 3 out of 8

Mark for (a) = 4 out of 10

       The candidate correctly 
concludes there was no theft.

       The candidate accurately states 
that Suki has an honest belief that 
she can take the bag from Tamsin.

       The candidate further 
concludes that if there is no theft 
there can be no robbery.

Mark for AO1 = 0 out of 2
Mark for AO2 = 3 out of 8

Mark for (b) = 3 out of 10
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Example Candidate Response – low, continued Examiner comments

       Here is an accurate reference 
to relevant statute law.

       The candidate makes some 
accurate application of force being 
used and what that caused.

       The candidate applies the fact 
that force has been used in the 
second part of the scenario.

       The candidate applies the 
point of law that not gaining control 
of the phone does not prevent an 
appropriation.

       Here is an accurate conclusion.

Mark for AO1 = 1 out of 2
Mark for AO2 = 4 out of 8

Mark for (c) = 5 out of 10

Total mark awarded =
12 out of 30 

8

8
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12

10
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12
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Common mistakes and guidance
•	 	Some candidates write out the question and large amounts of the source material which gives them less time to 

demonstrate application of the law – it is more helpful to refer to the law in the source material and include only the 
most relevant points to support application.

•	 	In an effort to cover all the issues in a question, it is helpful to consider the issues in the order they appear in the 
scenario and apply the law to those issues in turn.

•	 	AO1 marks are awarded for the use of citation from the source material which is most relevant to the facts in the 
scenario, so it is helpful to take the time to consider which are the most appropriate cases, remembering that a 
maximum of 2 marks are available for AO1.

•	 	AO2 is awarded for accurate application of the law in the source material and it is helpful to do this only to the facts 
provided in the scenario and not speculate about any other possible issues. 

•	 	Candidates should make a clear link between the relevant law and how it is applied to the facts in the scenario.
•	 	It is helpful to reach a clear conclusion based on the scenario facts and the law applied from the source material.
•	 	It is good practice to include material on sentencing when directed to do so by the question and the source 

material.

How the candidate could improve their answer
(a)
•	 	The candidate could have been clearer in separating the use of force on Freda from the threat of force which came 

from Yuri shouting at her.
•	 	There could have been application of the law to say that there had been a completed theft, that the force was used 

at the time of stealing and in order to steal as part of a continuing act as in R v Hale and that the use of force in 
order to escape would not prevent Mikhail and Yuri being convicted of robbery.

(b)
•	 	The candidate makes some accurate statements, but they could have been clearer on the statutory and case law 

on which they were relying as well as being clearer in their correct naming of the characters in the scenario.
•	 	There could have been reference to the issue of force and application of this area of law to the matter of whether 

Suki had appropriated the bag.

(c)
•	 	The candidate could have supported their application with relevant case citation in each part of the scenario.
•	 	They could have been clearer how the law applied to each of Carol and Roger in the first part of the scenario by 

adding an explanation of Carol’s liability for theft alongside Roger’s use of force as well as making the point that the 
force was used in order to steal.
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Question 2

Example Candidate Response – high Examiner comments

       The candidate identifies that 
the chain of causation is the link 
between the act of the defendant 
and the consequence.

       The candidate is clear that the 
chain must not be broken.

       The candidate accurately 
describes the act of a third party 
as being one way the chain of 
causation can be broken.

       The candidate describes the 
victim’s own act as being a second 
way to break the chain of causation.

       The candidate describes things 
which are natural but unpredictable 
events, which is the third way in 
which the chain of causation can be 
broken.

Mark for AO1 = 5 out of 5

Mark for (a) = 5 out of 5

1

2

3

1

2
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Example Candidate Response – high, continued Examiner comments

       The candidate gives some 
accurate AO1 material about s9 
Theft Act 1968 and the offence 
under s9(1)(a) although they use 
the word ‘and’ in relation to the third 
ulterior offence when ‘or’ would 
have been more precise. 

       The AO1 material about s9(1)(b) 
is not entirely accurate but there is 
some understanding of the second 
way in which burglary can be 
committed.

       The candidate makes an AO3 
comment about the breadth of 
burglary.

       The candidate gives AO1 
material on the common elements 
of burglary.

       The candidate makes an AO2 
statement as they have analysed 
the law and identified an issue.

9

7

8

6

9

7

8

6
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10
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Example Candidate Response – high, continued Examiner comments

       The candidate uses accurate 
AO1 citation and detail to 
demonstrate their understanding. 

       An AO3 comment evaluates the 
effect of the cases discussed.

       The candidate analyses the 
law and makes an AO2 comment 
identifying another issue.

1111

12

13

12

13
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Example Candidate Response – high, continued Examiner comments

       The candidate includes 
accurate AO1 material which is 
detailed and explained.

       Some AO3 comments show 
how the law has been developed 
through the cases and the 
clarification this has provided.

       The candidate explores another 
AO1 issue and includes some 
relevant cases; although in one 
instance the cited case is named 
incorrectly (should be  
R v Walkington) the explanation of 
the point of law is accurate.

15

16

15

16

1414
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Example Candidate Response – high, continued Examiner comments

       The issue of trespass by 
exceeding permission to enter is 
explored with accurate AO1 material 
by using a cited case.

1717
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Example Candidate Response – high, continued Examiner comments

       The candidate uses AO2 
analysis to identify another potential 
issue in burglary.

       This is developed into AO3 by 
an evaluation of the need to have 
both actus reus and mens rea in an 
offence so as to deliver justice and 
protect human rights.

       Material on later developments 
in the wider law of property offences 
is not credited as it is beyond the 
scope of the question set.

       After a little repetition, the 
candidate identifies an AO2 issue 
relating to the elements of burglary.

1818

19
19

20

21

20

21
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Example Candidate Response – high, continued Examiner comments

       Material on aggravated burglary 
under s10 is not credited as it is a 
separate offence and beyond the 
scope of the question.

       The candidate draws together 
some of the points they have made 
and reaches an overall conclusion 
on the law of burglary which is 
consistent with the material they 
have used in their essay.

Mark for AO1 = 10 out of 10
Mark for AO2 = 4 out of 6
Mark for AO3 = 6 out of 9

Mark for (b) = 20 out of 25

Total mark awarded =
25 out of 30 

How the candidate could improve their answer
•	 	(a) As there are only 5 marks for this question, the command word is ‘describe’ so the candidate could have been 

briefer and thus had more time for their answer to part (b). Simply describing the key elements of the chain of 
causation is sufficient to gain marks.

•	 	(b) The candidate included a lot of detailed AO1 material, and this could impact the time available for AO2 and 
AO3; better planning might have helped with this.

•	 	(b) The candidate raised valid AO2 issues, and it might have been helpful to go into greater depth in their AO3 to 
develop the points they had raised.

2222

23

23
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Example Candidate Response – middle Examiner comments

       The candidate identifies 
that a cause leads to a certain 
consequence.

       The candidate makes the point 
that the chain of causation must not 
be broken.

       The candidate describes one 
way in which the chain of causation 
can be broken.

       Here is a repetition of the fact 
that the chain of causation must not 
be broken.

Mark for AO1 = 3 out of 5

Mark for (a) = 3 out of 5

4 4

2

3

2

3

1

1
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Example Candidate Response – middle, continued Examiner comments

       The candidate correctly 
identifies the statutory source of the 
law on burglary.

       The candidate goes on to 
identify s9(1)(a), its key elements 
and the specific offences which are 
covered by the statute.

       The candidate identifies s9(1)(b) 
 but with less clarity as to the 
statutory provision. 

       Here is some relevant factual 
material on the difference between 
the two offences in s9.

       Having explained differences 
between the two sections, the 
candidate makes an AO3 evaluative 
statement to balance this by 
reference to the common elements 
between the two offences.

       The candidate gives accurate 
AO1 factual information on one of 
the common elements of burglary.

       Although the name of the case 
is incorrect, the candidate gives 
accurate factual information on  
R v Brown.

9

7

8

6
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9

7
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6
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Example Candidate Response – middle, continued Examiner comments

       The analysis is supported by 
accurate AO1 information on the 
two most relevant cases.

       The candidate moves on to the 
final common element, analyses the 
law in terms of its clarity and goes 
on to demonstrate this with two 
relevant and accurately explained 
cases.

       Here is some factual material 
relating to general points about 
mens rea.

       The material on aggravated 
burglary is not credited as this is 
beyond the scope of the question 
set.

13

12

14

15

13

12

14
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Example Candidate Response – middle, continued Examiner comments

       The candidate moves on to the 
final common element, analyses the 
law in terms of its clarity and goes 
on to demonstrate this with two 
relevant and accurately explained 
cases.

       Here is some factual material 
relating to general points about 
mens rea.

17

16

17

16
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Example Candidate Response – middle, continued Examiner comments

       The material on aggravated 
burglary is not credited as this is 
beyond the scope of the question 
set.

       Here is some AO3 evaluation of 
the earlier analysis about the issue 
of how trespass is defined.

       The candidate evaluates the 
issue they have raised earlier about 
buildings, linking it to the fact that 
the absence of one element will 
result in no conviction.

       This is then linked to the issue 
of proving dishonesty and the most 
recent authority on the law is cited, 
although not accurately explained.

       The candidate gives a 
conclusion which is consistent with 
the points they have made and 
makes accurate links to maximum 
sentences.
Mark for AO1 = 9 out of 10
Mark for AO2 = 2 out of 6
Mark for AO3 = 5 out of 9

Mark for (b) = 16 out of 25

Total mark awarded =
19 out of 30

18

19

18
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20
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How the candidate could improve their answer
•	 	(a) There is a lot of detailed factual material on one way the chain of causation can be broken and it would have 

been helpful for the candidate to use their time to also describe the other two ways the chain can be broken.
•	 	(b) There is a lot of accurate and detailed factual information and case law, but the candidate could have improved 

their answer with more accuracy in relation to the s9(1)(b) offence.
•	 	(b) The candidate could have raised a broader range of analytical points, particularly surrounding s9(1)(b); it would 

also have been helpful if their AO3 had been more clearly and systematically linked to their AO2 as they moved 
through their essay and planning might have helped with this.
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Example Candidate Response – low Examiner comments

       The candidate makes an 
accurate point in that the chain of 
causation must not be broken if 
liability is to be established.

       The candidate makes the point 
that the chain has been broken by 
the doctor and, by implication, that 
they are a third party.

Mark for AO1 = 2 out of 5

Mark for (a) = 2 out of 5

       The candidate identifies that 
there are two different offences 
under s9.

       The candidate gives some AO1 
detail on s9(1)(a) although they lack 
clarity on the intention issue.

       Here is a partial definition of the 
offence under s9(1)(b).

       The candidate makes an 
accurate AO1 statement on two of 
the common elements in burglary. 

4

2

3

1

5

4

2

3

1

5
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Example Candidate Response – low, continued Examiner comments

       This paragraph contains 
accurate AO1 factual information, 
supported by relevant case law, on 
one of the common elements.

       This paragraph gives accurate 
AO1 information on another 
common element but without any 
clear link to the concept of trespass.

       The candidate makes an 
accurate AO1 statement about 
maximum sentences.

       The material on aggravated 
burglary is not credited as it is 
beyond the scope of the question.

       The final sentence gives a 
sense of a conclusion.

Mark for AO1 = 9 out of 10
Mark for AO2 = 0 out of 6
Mark for AO3 = 1 out of 9

Mark for (b) = 10 out of 25

Total mark awarded =
12 out of 30

7
7

88

99
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How the candidate could improve their answer
•	 	(a) The candidate could have improved their answer with some more description of the chain of causation and 

clear description of the three different ways in which it can be broken in preference to detailed explanation using 
cases of one category which is not overtly named.

•	 	(b) The candidate could have improved their answer with more detailed AO1 material which went beyond the 
common elements of burglary to the different aspects found in s9(1)(a) and (b).

•	 	(b) With a focus on AO1 material, the candidate could have improved their answer by analysing the law and 
making AO2 points relating to the issues in the common elements which they had described using relevant case 
law. This would have given them the opportunity to achieve AO3 marks by evaluating these issues and reach 
an overall conclusion based on the evidence they had presented in preference to their one simple sentence of 
conclusion.

Common mistakes and guidance
•	 	(a) As there are 5 AO1 marks for this question, it is helpful to make clear points of description in response to the 

question set. These can be brief and a bullet point format is acceptable.
•	  Some candidates go into a lot of detail, often including extensive description of cited cases, and this takes time 

which it would be better to use to think about, plan and then answer the part (b) question.
•	 	(b) It is very helpful to highlight the key words in the question in an effort to use only relevant material.
•	 	 There can be a tendency to include extensive factual material – it is helpful to remember that there are a maximum 

of 10 marks available for AO1; clear, simple and accurate definitions and citations which use only the key facts and 
focus on the point of the law in the case are the most helpful way to maximise marks for AO1.

•	 	 AO2 focuses on analysis of the law and it is helpful to think of this in terms of identifying issues – these might come 
from the way the law was written or has been developed by the judges as well as things such as changing social 
need.

•	 	 These can then be developed into AO3, which is evaluation of the law, and it is helpful to explore at least some of 
the issues raised in depth to move up the levels of the mark scheme.

•	  It is helpful to make a plan so as to keep the question in mind throughout and more easily reach an overall 
conclusion at the end which comes back to the question and fits with the material which has been included.
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Question 3

Example Candidate Response – high Examiner comments

       The candidate accurately 
describes the factor of the nature of 
the crime.

       Here is the factor of trauma and 
it is linked to the medical report.

       The candidate identifies mental 
illness as another relevant factor.

       Age is identified as a relevant 
factor with a brief but accurate 
description.

       The role of the parent is 
credited as it is linked to the 
wellbeing of the young offender 
and the potential impact on their 
behaviour.

Mark for AO1 = 5 out of 5

Mark for (a) = 5 out of 5

       This is a general introduction 
but is not linked to the aims of 
sentencing.

       The candidate makes a 
statement which appears to be a 
conclusion.
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Example Candidate Response – high, continued Examiner comments

       In this paragraph, the candidate 
explains what deterrence is and 
then gives accurate AO1 material 
on individual deterrence, the 
sentences that can be used and the 
impact it is intended to have.

       The candidate moves on 
to explain general deterrence 
using AO1 material to show their 
knowledge and understanding.

       The material on public hanging 
is not credited as it refers to another 
jurisdiction and the course deals 
only with the English legal system 
where the death penalty is not used 
as a punishment.

       The candidate makes reference 
to a case but without citation and no 
clear statement as to the relevance 
of the case in terms of deterrence 
as an aim of sentencing.
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Example Candidate Response – high, continued Examiner comments

       The candidate makes an AO3 
comment which evaluates the 
balance to be struck in sentencing 
and its relationship to deterrence.

       Here is AO2 analysis of the 
issue the candidate has just raised.

       This leads into an AO3 
comment as to the consequence 
which this can lead to.

       The evaluation is developed 
to extend beyond the increased 
likelihood of offending to an 
added chance of committing a 
more serious offence than would 
otherwise have been the case.

       The general material here is not 
linked to the aim of deterrence.

       The candidate gives AO3 
evaluation about the impact of 
deterrence in different types of 
offences.

       As part of their overall 
conclusion, the candidate suggests 
that other aims can also have an 
impact when sentencing.

       The candidate ends with a 
general conclusion on sentencing 
and what it is for.

Mark for AO1 = 9 out of 10
Mark for AO2 = 1 out of 6
Mark for AO3 = 7 out of 9

Mark for (b) = 17 out of 25

Total mark awarded = 
22 out of 30
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How the candidate could improve their answer
•	 (a) The candidate could have covered a wider range of factors instead of making two points connected to 

parental involvement but they approached the question in a methodical way and were brief but accurate in their 
identification and description which is sufficient for the 5 AO1 marks available.

•	 (b) The candidate could have improved their answer with AO1 material which extended to the role of educative 
deterrence and how this can be used to change standards in society.

•	 (b) Better planning would have allowed the candidate to improve their answer by highlighting more issues raised by 
the different kinds of deterrence which they could then analyse and evaluate; this would have added to the overall 
coherence of the essay as their conclusion early on was not fully explored and supported by the AO1, AO2 and 
AO3 material they used in their answer.
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Example Candidate Response – middle Examiner comments

       The candidate describes 
age as a relevant factor when 
sentencing a young offender.

       Although not named, the 
candidate describes maturity and 
how it works as a factor when 
sentencing.

       The candidate describes the 
record of offending as a factor in 
sentencing.

       Here is a reference to the 
impact of family circumstances as a 
relevant factor.

Mark for AO1 = 4 out of 5

Mark for (a) = 4 out of 5
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Example Candidate Response – middle, continued Examiner comments

       In the opening sentence, the 
candidate makes it clear that they 
know the statute which covers the 
aims of sentencing although they do 
not identify the relevant section.

       The candidate identifies two 
types of deterrence, although one 
is not named correctly (should 
be educative deterrence) and 
recognises that they are different.

       Here is some accurate AO1 
material on general deterrence.

       Here the type of deterrence 
is not named accurately, and the 
description does not match how the 
aim works. The candidate also links 
to young offenders when the focus 
of the question is on adults.

       The candidate makes a general 
AO3 evaluative comment about the 
ineffectiveness of deterrence and 
the reason for this. As before, the 
reference to young offenders is not 
credited as they are not the focus of 
the question.
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Example Candidate Response – middle, continued Examiner comments

       The candidate suggests a 
more effective aim when sentencing 
adults and gives some factual AO1 
material in support.

       Here is an AO3 evaluation of 
why protection of the public may be 
more effective.

       The candidate makes an 
AO3 comment which compares 
deterrence and protection of the 
public in an evaluative way.

       The candidate offers a 
conclusion that deterrence may be 
more effective at times although this 
is rooted in some misunderstanding 
of educative deterrence.

       The candidate gives some 
evaluation on the level of 
effectiveness of general deterrence 
and the reason this might be the 
case.

       In this paragraph, the candidate 
draws their answer to a close with a 
closing statement which reflects the 
evidence they have used and the 
points they have made.

Mark for AO1 = 5 out of 10
Mark for AO2 = 0 out of 6
Mark for AO3 = 8 out of 9

Mark for (b) = 13 out of 25

Total mark awarded =
17 out of 30
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How the candidate could improve their answer
•	 (a) The candidate could have covered another from the range of factors and been slightly briefer in each of the 

descriptions they gave so as to maximise their time in gaining the 5 AO1 marks available.
•	 (b) The candidate could have improved their answer with AO1 material on individual deterrence in more detail and 

showed a clearer understanding of educative deterrence by reference to examples.
•	 (b) In order to access AO2 marks, it would have been helpful for the candidate to raise issues associated with the 

different types of deterrence.
•	 (b) The candidate makes valid evaluative comments which are credited as AO3 but these could have had more 

impact if they had been in response to AO2 issues raised after explaining relevant AO1 material so all three 
elements support and build on each other in an answer.
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Example Candidate Response – low Examiner comments

       The candidate identifies age as 
a relevant factor when sentencing 
a young offender and describes 
how this might work in relation to a 
sentence.

Mark for AO1 = 1 out of 5

Mark for (a) = 1 out of 5
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Example Candidate Response – low, continued Examiner comments

       The candidate gives some 
AO1 material on both individual and 
general deterrence although these 
are not named as aims.

       The candidate identifies an aim 
of deterrence in a general way.

       Here, the candidate analyses 
the law on sentencing and raises 
an issue connected with deterrence 
which is credited as AO2.

       The candidate identifies a type 
of offence where deterrence is a 
common aim.

       The candidate then evaluates 
this in a general way and without 
naming the particular type 
of deterrence they have just 
described.
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Example Candidate Response – low, continued Examiner comments

       In these paragraphs, other aims 
of sentencing are described but 
there is no link to, or comparison 
with, deterrence.

Mark for AO1 = 5 out of 10
Mark for AO2 = 1 out of 6
Mark for AO3 = 2 out of 9

Mark for (b) = 8 out of 25

Total mark awarded =
9 out of 30
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How the candidate could improve their answer
•	 (a) The candidate could have improved their answer by describing a wider range of factors. It would also have 

been helpful to highlight the word factors in the question so as to give their answer a better focus rather than giving 
detail on the types of sentences and the aims which might lie behind them; this would have allowed them to access 
the full range of the five AO1 marks available.

•	 (b) The candidate could have improved their answer with AO1 material which made clear their understanding of the 
three types of deterrence, perhaps by naming them before using the relevant factual information they included in 
their answer.

•	 (b) Planning, such as highlighting the key words in the question, might have helped the candidate make better 
use of their time, as would an understanding that AO1 material accounts for a maximum of 10 marks. It would 
also have helped the candidate if the material they included on other aims of sentencing was dealt with in terms of 
effectiveness and compared to deterrence in this context.

Common mistakes and guidance
•	 (a) As there are 5 AO1 marks for this question, it is helpful to make clear points of description in response to 

the question set, particularly in this question with its focus on factors rather than sentences and on only young 
offenders. These points can be brief and a bullet point format is acceptable.

•	  Some candidates go into a lot of detail, often including extensive description, and this takes time which it would be 
better to use to think about, plan and then answer the part (b) question.

•	 (b) It is very helpful to highlight the key words in the question in an effort to use only relevant material and this 
question suggests a focus on comparing other sentencing aims to that of deterrence.

•	  There can be a tendency to include extensive factual material – it is helpful to remember that there are a maximum 
of 10 marks available for AO1; clear, simple and accurate definitions with relevant supporting examples are the 
most helpful way to maximise marks for AO1.

•	  AO2 focuses on analysis of the law and it is helpful to think of this in terms of identifying issues – these might 
come from the way the law was written in the Criminal Justice Act 2003 or has been developed by the Sentencing 
Council and used by judges as well as things such as the changing demands which come from politicians and 
society.

•	  These can then be developed in AO3, which is evaluation of the law, and it is helpful to explore at least some of the 
points raised in depth to move up the levels of the mark scheme. A question which explores whether something is 
‘most effective’ also invites evaluative comparisons.

•	  It is helpful to keep the question in mind throughout the answer and reach an overall conclusion at the end which 
comes back to the question and fits with the AO1 and AO2 material which has been included.
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